
WET

LED

MADE IN CHINA

LED Bollard

LED Bollard Accessories

Flat Head Round Head

1 at gasket (3 pcs)

 Spring gasket (3 pcs)

ut (9 pcs)

Buried Type-L

or

Installation Guide

Page 1-4



Flat head installed as example.

Figure 1

Figure 2

Figure 3

Figure 4

Input Output

Ensure power is off before installation. The direction of the 
arrow is the irradiation direction of TYPE 3 lamp holder.
Fix the screw position with screw fixing plate and fill with 
cement. As shown in figure 1-2.

Asegúrese de que la alimentación esté apagada antes de la 
instalación. La flecha estáen la dirección de la lámpara 
type3. Fijación de la posición de los tornillos con un 
tornillo fijo,rellenado con cemento,como en la figura 1-2.

Veille à ce que l 'alimentation soit coupée avant l' installa-
tion. La direction de la flèche est la direction de l 'éclairage 
de la lampe type3. Fixez la position de la vis avec une 
plaque de fixation de vis, remplissez le ciment, comme
la figure 1 - 2.

1.

The direction of the arrow is the irradiation direction of 
TYPE 3 lamp holder. Install the base according to the 
position of screw hole on the buried type-L screw.

La flecha estáen la dirección de la lámpara type3. Coloque 
la base en un tornillo l enterrado en la tierra.

La direction de la flèche est la direction de l 'éclairage de la 
lampe type3. Le socle est monté sur la vis de type L 
enterrée par positionnement du trou de vis.

2.

The direction of the arrow is the irradiation direction of 
TYPE 3 lamp holder. The base are locked with 3 pieces M10 
nut.

La flecha estáen la dirección de la lámpara type3. La base 
estácerrada con tres tuercas M10.

La direction de la flèche est la direction de l 'éclairage de la 
lampe type3. La base est verrouillée avec trois écrous M10.

3.

The direction of the arrow is the irradiation direction of 
TYPE 3 lamp holder.
Wiring

La flecha estáen la dirección de la lámpara type3.
Cableado.

La direction de la flèche est la direction de l 'éclairage de la 
lampe type3.
Câble électrique.

4.

Installation Guide

LED Bollard



Flat head installed as example.

100%

75%

50%

Figure 5

Figure 6

Figure 7

Figure 8

The direction of the arrow is the irradiation direction of 
TYPE 3 lamp holder. Position the barrel body on the base.

La flecha estáen la dirección de la lámpara type3. Pon el 
cilindro en el asiento trasero.

La direction de la flèche est la direction de l 'éclairage de la 
lampe type3. Positionnez la cartouche sur la base.

5.

Locked with 3 picecs M4 socket hexagon countersunk head 
screws.

Con tres tornillos de seisángulos en el M4.

Verrouillage à l 'aide de trois vis M4 à six angles

6.

Insert male and female plug first, and then install the lamp 
holder and tube body.

Primero la enchufe el macho y luego la cabeza y el cilindro.

Il faut d 'abord insérer le mâle et le mâle, puis mettre la 
lampe et la cartouche.

7.

Locked with 3 pieces M4 socket hexagon countersunk 
head screws. Turn on the power.

Con tres tornillos de seisángulos en el M4. Enciéndelo.

Verrouillage à l 'aide de trois vis M4 à six angles.Allume le 
courant.

8.

Installation Guide

Page 3-4LED Bollard



Spray expanding foam, used to fill and seal the base of the bollard body.
：

Installation Guide
V2.0

Page 4-4

Make certain power is switched OFF before starting 
installation. Remove the base from the bollard and retain 
the set screws to use when reinstalling the bollard body.

1.

Step 1

Step 2

Step 3

Step 4

Fill the bottom of the bollard with approximately 5 inches 
of spray expanding foam, ensuring the foam makes 
complete contact around the conduitand the inside of the 
bollard body.

2.

Allow time for foam to expand, then visually inspect to 
con�rm the foam does not contain gaps between the foam 
and the conduit, or the foam and the inside of the bollard 
body.

3.

Complete the bollard installation following all NEC and 
applicable local Codes and Ordinances.

4.

LED Bollard

Asegúrese de que la alimentación esté APAGADA antes de comenzar 
la instalación. Retire la base del bolardo y conserve los tornillos de 
fijación para utilizarlos cuando vuelva a instalar el cuerpo del 
bolardo.

Llene la parte inferior del bolardo con aproximadamente 5 pulgadas 
de espuma expansiva en aerosol, asegurándose de que la espuma 
haga contacto completo alrededor del conducto y el interior del 
cuerpo del bolardo.

Remplissez le bas de la borne avec environ 5 pouces de mousse 
expansible par pulvérisation, en veillant à ce que la mousse soit en 
contact complet autour du conduit et à l'intérieur du corps de la 
borne.

Permita que la espuma se expanda, luego inspeccione visualmente 
para confirmar que la espuma no tenga espacios entre la espuma y 
el conducto, o entre la espuma y el interior del cuerpo del bolardo.

Complete la instalación del bolardo siguiendo todos los códigos y 
ordenanzas locales aplicables y NEC.

Terminez l'installation de la borne en suivant tous les codes et 
ordonnances NEC et locaux applicables.

Laissez le temps à la mousse de se dilater, puis inspectez visuelle-
ment pour confirmer que la mousse ne contient pas d'espace entre 
la mousse et le conduit, ou entre la mousse et l'intérieur du corps de 
la borne.

Assurez-vous que l'alimentation est coupée avant de commencer 
l'installation. Retirez la base de la borne et conservez les vis de 
réglage à utiliser lors de la réinstallation du corps de la borne.


